6.RP.3.A Test 1B

Multiple Response
Identify one or more choices that best complete the statement or answer the question.

1. 11 12
22 24
33
44 48

55
Choose the 2 answers that complete the ratio table.

a. 60 c. 72
b. 36 d. 30
2. 150
256 300
384 450
600
640 750
a. 128 c. 512
b. 520 d. 120
3. a7 32
94 64
141
188 128
160

Choose the two numbers that complete the ratio table.
a. 235 c. 96
b. 72 d. 237



4 16
8 32
10 40
Choose the 2 correct answers that will complete the ratio table.
a. 12 c. 6
b. 20 d 24
S. 1 14
28
3 42
4 56
70
Choose the 2 answers that complete the ratio table.
a. 5 c. 10
b. 2 d 7
Completion

Complete each statement.

6. 12 10
24 20
36 30
48 40

60

What number completes the chart?




[Ta]

14 18
21 27
36
35 45
What number completes the chart?
6 8
12 16
18 24
24
30 40
What number completes the chart?
5 1
2
15 3
20 4
25 5

What number completes the chart?




Answer 1: A, B
Answer 2: A, C
Answer 3: A, C
Answer 4:C, D
Answer 5: A, B
Answer 6: 50
Answer 7: 28
Answer 8: 32
Answer 9: 10



